§QC1’;OV\ 7,5

e

/,“_/5] _l/_eg__rur_lz« 5_}/22‘ from (0,0) to /‘UL) Can be
..r_c/f’ﬁfémfﬁb( 47 (“lee, More 7€n€r¢//.y}_.
the vector X from (ah) ro (<, d) has the
| Same ma nitude and Airection as the
[ ector & foam fal se {o-a,d-C)
| Therefore ¥ =g =(c-ad-bY.

2. Just like the ”/oor‘nr"(a, b) , the veetor

| §=.(C\.;'9) has 3he Gl ==f(orh)
_ﬁor‘.f.&&nﬂg/ L_'am/éanﬁe_nf /‘5/ "JM !
the ve_rr-lc:a/ (o _oném'f‘(o/b)- i
,_TA%.S (‘i.;.OJ +("/ bJ = (d‘) !9) . (‘5\10)
i —— iy pR—
3. T ke t.z.//’t_?cr/an gngle £ a 6

veéctor v {rm 1 he Q.”Ijl_;\ V - -\
to a point P js the Sena llest

o - . - N e
HAtonnesallve Mj/e é .féf‘“'ﬂ fltﬂ_./)_aélf.”’é X-axiste V,

Nore:7he fextbook says |

(«) U}{"Q?C"J”/.}lsfea.f 07[},05;‘\1-_(&_c )_(~a)<__‘(5"/
{L) “fos 111 ang fe_“_/n_‘;rf;z¥ oF ”5m.4lfe.§.r

L — ﬁ””hé.ja?“f!/‘e 4hj/€ ’ e

T his causes many problems and_am Z?/ju_:ﬂes.

and



q.. TL X = Lél has direct(on ang_(e 0,

thew —2— - o _ 5 5 ) ~
L “ewIW'IrMM_'ﬁ? f 1ng = o PP 2

a =Rl ¢rs 8 andd b =[IRl-518 ,

TI«“S_f '-‘(‘\, L\ L\as

}-arieom‘«Lmnpm; (a,0) =(1%(1-¢os &  O) amel )

L vertical ¢omponent (g,k) =(6, IRl 5in 8)

R b N .
s 02§ Novartow: Pefine 021,008 =(0,1).

—

—

LR i e e

IE X (s 1 he vecter from +he srigin to the };QI‘V‘T (o,b),

L then ¥ =(a,b)= (a,0)+ (0,b) = a:(l,e) thi(o,)=al+b §.

T

o E

Examté:ie s % ={-1,3} = =7 +3 ard

Ysyi=9j =(4,-9

s Sl

6;. Aﬁ# {_l,(.aﬂ,enﬁ Ij_‘_!?f_s_‘ﬁr;g%m{n"f(y__lf_t__ﬂ cessary to

! R
il a/e_-_cm’éese vectars ntd +he sum of theip

Aof‘fﬂcmra/ana( Verﬂk«l cméanen«ts !;1 T E€rmsS

07[ +he anff Vecfors { “”"(a' s

(@) %= (3,) = (3,00 (o,4) =-3( 0V b (o) =3+ 4]

(Ll I‘F @ has Airection 4mj,(g "fOoavwﬂ “!j“ = 25;1'{\9_“

DBl = 25 cosu6’s 19,2 g [Vl 228 sin40%= (6],

This & = (19.2,0) 2.1 % (o,16:0)=>

a:'—b-("i-?'—‘(l‘hl;,o‘ +(d,; ’6"\ =

2 A

Te -

19,2(1,0) + 16 (0,1 = lq.1f+ ls.(f.




yA Vec-wr 6#%/”‘7(V¢W‘!0“5 VQ_C"“‘”'N"*QT"”‘S) -~

el Ty g

N H T =(a)b) and § = (,d) thes
g 1 (ab) = (<, d) FF& =¢ aund b=d, )

- GIUEM Dalnf‘s P{d\ Q] Q(Cid} S(_,_)_T(Xl} {~ Qlf
+he vec-l-or 1£rm P o & is PQ = (¢~ a, d - E)
-I-Le vector from S +aT is ST =(x-u o V) Mdf

PO =ST 1L (ca,d-L)=(x-u,y- ~v) i .
CQKUQV\JJL» ZV

;P.Tm ljd,"-ho'ro\?"lol/\} at'-f'LT::' é’Lr 'f‘&[} {(ﬁ 4=CQnafb=c£.

8 Ve,c?-or SU\W\S Onnae Df#erevxce_s (Varc‘ous' Nofq‘f';onSJ:
(kY (e, d) = (ave, hvd)
L (a,b)=(<,d) = (a-¢, b-d)

(T (T AY = (ar )T+ (bed)]
(aitb])=(cT+dT) = (a~)T + (b-d)T

q.;Nean}ve o'l[a Vacror (Var;'au_s Na‘mf}ons)_'
L ~lab) = (~a k) = (aTrb])= —al-L]

lo.t Scalar Mu‘f-ljb‘-e O‘Fa VQ C'T‘dr'(vq r;ous NOTQf{'OV\S):

Fe(a,b) =(ro:'_,rL§_; re(aT+b,7) = (ra)T + (rb)7

i Zero Vector (Variaus Na-raﬂ'emg '.

B =(0,0) =0l+0]




12, The “?"‘figw"rude “of a vecter X i3 a
| measure of the L@_Qr_[aéff’ dencted “’)f“

Va Hoa_s NoTaH onsS |

)( (44L)'-3=>“¥”-Ja + (Atff*auce Fram(O;O)'fa (d ))

= —t = -

I'F P (4 4, ) ab\é{ Q(C)AJ Ave Pocvur;s 1V\ m fkev\
(c. ad- b) =
ﬂL['R‘U: {-C aJL‘t- (A_ b)l (A!Sfﬂnce 'frah«(“/ )1'0 (C/d)‘)

TEX =ai +b] thew %] =[la7+LI] = Ja b .

1

Ez;aw\ les

Il¢~z,ﬂll = (27~ () =/33 .

176 = ("3 l) ounj Q = (7— S) ar¢ ‘bomf‘j l\r\ D. L_{’\,.
P&H‘\/(’z (-3))+ (5-1)" 1/8')1+(L|J j/——

“ 4 ?"‘I“ = ﬂél’-_’_(_,)q_' _ m |

13 L[ X,U T are vectors cww(kd-t‘].-.r -'-Leh
il ’3 Cﬁ//‘etz f’Ae reSM/TéV!T a# X Mc(y/ an0(
1l X an;{y are ca//edd lldm/lanewf-s of

-.L

_iNo Gwem x&.;/ ‘Me resut/ﬂmt r (s um@ue
Given 7 r,the components X .{,; are NOT aquee.

:Iifxam,b/er (2,0)+(s,3) = (2,3) & (1,-1)+(14) =(2,3)

il 7 he cmfnjone;!fs of (243) avé hef c{m('?ue,



——

,..ZL.._AQ é/ra-éramf Ze/ow exb/am 7"14;_5 a/qechi_c‘_

/“e/a hﬂ'on Ség_/b qemrg,taz N;

(4,4)
0973) +" m'—?(L’S)

it |
X (2,0)

o

T

.\“'! 7';/0 Lorces of 16/b and IS/ act ‘h“}’"'”" Pl_h_R

T he Q"jje between the éarc-:a; /5 5‘0

4,42.2.?:&::;5;_4 the majﬁ;raa’e of the resultant force ¥ on P

S. ls N

}_nLP =50° and "'71'““‘"77

= /
fpar.ilﬂ_farailelo;_ramfljo 10 0 / .,_rf"o
MLA=130-50"=130°, 130,

>
ST =18, amd lat(l=10 - /5 e

::5; +he |aw ad{. (osines In AP&T {or A PST)/,

“_ilr“ = |5 410 ~a{15) (10} cos 130" =>

NFI= 517, 8362825 =>

1Tl = 22.75¢ |b.




LS—;_,DOT (,r_'m ner_‘_) Prajucf af VQIC‘!‘OV’S y&;'
_  Neration 32"3

I X=(a0) and ; =(C;oﬂj thew faf{ =ac+ bd,
_IfX=alrb] and Yrcltd] phen X5 =ac+bd,

 Note:The dot preduct of twe yecrors is a humber .
lo. Examples: e —TE

WIf X=23),5=(4,3) then X5 = (2)()+(3)(3)= 1 ,

(WIf B=l-s57, V= $T43] then Wv=(12)(H)+(-8)(3)= -9,

17;_/91_:}@[_/247‘:;;4; -_S«,;_.;_,g.se a student has exqm Jradqs

42,87,85 (159 2ach) , midterm grade 74(257,),
and _fino) Rxam grade 91.(302). Determine

__zhe student’s course 4U€hdj€_{-"-:)€f;7h7_‘-gd mean”),

ngaluw*_ins De‘ﬁn{ t+ he ‘@o_{fgwfhj_ vectrors!
i jra_a(cz vectror 5: (42) ?7.;, S’S; 79}01!-() m,\_é(
Weight vector & =015%, 152,152,257, }507,)=
(155,15, .S, .25, . 30) .
- _(CO’)\ ver T'j'n‘_j T/\e._/béfc_eh rajej ) ;{ecl;ha/ ),
ﬂ.ff{éh rhe student’s Codrse qverage Is

75 = (a2)(,15)+(23)( 1s)+ (85)(.15)+(22)( 25)+(a4)(.30) =

£7.55 = 8% .



I.I S - N 2 :
/3 Tl«eor‘em Y I;f X 4mﬁ(*_(7 dré eclors /n }2 a_rla{ 9(5

_r/(e Qnﬁ/e Agweeh V4 ané{‘j w}u;A 547‘1‘51[(65

f'/:e Cand/?‘/ﬂn Fhar © ‘64130 J_TAQn

| V5

X—‘—g-
€036 = TRpLy 5 and s0_ éis—(m{ gl
:Naf-e' S;;(e 6 541‘1;70/1;5 Oo“@‘IS’O‘_‘::__Mw . )/1

+he 8 (s +he Sima/(gr A /e @ J 3

berweey X ema( , an the

7 iy
/ar/qir 4mq/e l_, 3‘\3'

/Vare fAe Veas sn -h(a-f 8 sarisfies 0°=6 «(30°

I /s Fhar B = cos IT"N“"//?'”)_’—_;X The

/*H/eg,gﬁ cosine function bhas *le

ﬂrzmcxﬁ/e l/a/u-g V‘an}e 01[0 1o /30




O ICE OIS Y

N7l = J(n +2)" =J20 =a/s .

: W S S - —
_ aeesE == T TS T oA 2. T
— fuc;\
6O = ¢»s (T' ) - "lS {—fmm &Calcuiaﬁar or MMQ]

8. 2l e oyl Y TR (R ;:"(-s_,g,_ |

T = q)(-S‘J+(;)(2) ==(8.

Wl = Vs =07

gl VEs)* et =24

—{ X — (¥ i
eSO g~ T ./T:" =
; HT‘V}/“’] V4
/ -8

A= cos ( \/trq'g‘) = M4 16 Hrmacalcq(wr\

Note: It /s advisalle 7o multiply 11:35=493
and reb/gce YIRRTFY ) wu—l J‘Ms before

Ccarnbur/na O wirh +he inverse cosin&€ on

\/oqf‘ Ca—/gu/ztt‘or //nfs i eqsv W It Vour
7 74
calcularor and will minimysze fA&c:Aqnco

Of an erroy since 7 he c‘a/Cu/ar/om wou/a(

rez'a/'re I//_FT"I/ZQ 1o be enc/asé//;\lﬁdrenf/neses c’



